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B. Sc. ECONOMICS- II SEMESTER

SEMESTER EXAMINATION: APRIL 2018
ECS 215: Microeconomics - II

Time: 2.5 Hours                                                             Maximum Marks-70
This question paper has ONE printed page and THREE parts
(For supplementary candidates)

Do not write the register number on the question paper

Please attach the question paper along with the answer script.
PART A Answer any TEN of the following                                               3X10=30

1. A perfectly competitive firm has total cost function C= 450+15q+2q2 and marginal cost function MC= 15+ 4q. If the market price is Rs. 115 per unit, find the level of output produced by the firm and the profit.

2. State the Walras and Marshall stability conditions.

3. What is a ‘natural’ monopoly?

4. What is third degree price discrimination? Give an example.

5. Mention a measure of monopoly power.

6. What is product differentiation?

7. Explain the concept of ‘product group’.

8. Define Nash equilibrium.

9. Mention two distinguishing characteristics of oligopolistic markets.

10. Explain the concept of ‘externalities’.

11. State the first fundamental theorem of Welfare Economics.

12. State Euler’s theorem.

PART B Answer any TWO of the following                                            5 X 2 = 10
13. Derive and explain the long run equilibrium of a perfectly competitive firm.

14. Peter sells pigeon pies from a pushcart in Cubbon Park. He is the only supplier of this delicacy in Cubbon Park. His costs are zero due to abundant supplies of raw materials available in the park. The inverse demand curve for pigeon pies was p= 100-y, where the price is measured in rupees and y is measures the number of pies sold. What level of output will maximize Peter’s profits? What price will Peter charge per pie?

15. Explain ‘stickiness’ of prices in oligopolistic markets.

PART C Answer any TWO of the following                                          15 X 2 = 30
16. ‘Cournot equilibrium is a stable equilibrium.’ Substantiate. Also derive the Cournot reaction functions and equilibrium outputs of two firms when market demand is represented by p=100-0.5(q1 + q2), where q1 and q2 represent output levels of the two firms.  c1=5q1 and c2=0.5q22 represent their cost functions.

17. Examine Arrow’s Impossibility theorem and mention its criticisms.
18. Explain the mechanism to determine wages in perfectly competitive factor markets.  
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